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D" TIO' DI'RY D'INYN
(non primitive variables)

DI'X Java 2 0'019'0N XY 7D ,ND TV MNpPOoY 0'oI9'uNn 8-7 V1S
D''v'NMO

X1 (1) o'o19'0 3000 -n nir n%oOn Java 7w nann nmson
D'WUTN D'0I9'V 1IXY NI DN WNNWI 0'NIDNND

DNY PP TTY 1IRY |11 071N ,0"TI0! D'OI9'V DI'N NITINAI D'DWN
N9 '019'VA NIXPA |IT DANPN DNIY'YA 1D

(reference type) nmon X171 'TIO' 1'KY 019'UN NINWN
0219 L[N ,Yax¥Nn ,NION'NN :[1Ad 0'7IPYW D'11'D] WNNW1 D'N'Y7 =

2 071X ,D0IWUN 0NN 12 7Tan v (C++ 5un%?) nNNRk NISw =
"TIO' 1'KY NINWNY? D'on"'nn D7D Java
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D' TIO'" DINWNI NI"IOn

DIZN DX X "TIO' 019'UN NINYN NO'Y]
D'I0N 0I9'VN YV 7ON7 212'w VIT 7TIAa |[IND'TA

1972 O DX DX 219N NINYN NN'XA

NXN) OV |IND2T2 ONKX DIPn 7 NaInd 707 710'w
INY7 [DIN

i
inti=>5; 100,000 5

str

String str = “Hello” 100,004 | 200,000 \\

200,000
6
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D'NIXVI NI'1ON

Nj71 V'axn XIN '79Y DI 01190 X1j7] str mMNYnn
(object) oyy

1AW [IN2'TN NITRNA DAY D'MYY DX QY [NDTN TR
(N |1N2'7) Heap napn Xini D'ipn 0RNwn 0NN

?yn nnY

NINWN 7¢ DINN NX NIXY7 N1DNN? nwn X7 Java v |inn =
(C nown mivwa) n'"on 019'LN

?13Y NnY

D'OI9'0 N'AXIM Y |ND'TN N1AN X O'VTI N7 IRV [11'"oN =
D" TIO' DI'NY
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NIMoSN 7V NI7IVO

NINYNI UTN Y NNY M990 NINYN7 nnwn
lyaxinn oxv? qwp X77 nmonn

String s1 = “Hello™;
String s2 = “World”;

sl=s2;
: 200,000

s1

100,004 300,000 <
100,008 [ 300,000 590,902
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null v

N 1ND LI7INNKR K77 N'™M90 NINWN XY N1
NN’ N1 NR71,722T AT 1DV 1A' NINWN
I"7X NWAY

N7) null 7Y DX N'M90 NINWN? 0'wn? [N
71727 'O JwUNN I'N NWA7 A N ) .(QTam

str 7NNIN DX
100,004 | |@#@A%S$%
String str; isInitialized
str = null; 100,008|  true

boolean islnitialized = (str == null);
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NnirMnn YIvw

XIN ,NTNNN XN '+ 0 109IXK 7Y D' TINOIND TNXK YWD
NTNNN X' NTNNNY? D'TIN9IXN XY 7D NX DANN
NITNNNN 7D VY XY TN

String s1 = "hello "; s .
. e 200,000 '
String s2 = "wotl"; 100,004 200,000

String helloWorld = s1 + s2; s2

har ch = 'd}; ‘
char c ; 100,008 300,000 300,000

helloWorld = helloWotld + ch;

helloWorld
100,012| 800,000  “hello worl”

h
AN NNXA NN c 00,000

2ch XM 100,016 'd!
“hello world”
500,000 10
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?V2¥Inin OXY7

yaxInn oxy7 nwna awoxn (nT7an) L ionoix

?07T DY D'YIY NN

NIYPA Upd7? "WOX =

(niIuwn 727%71) nITRY 7INW7 "WONX =

NIN'Y' 019 0NONNT NYWAT? TWOX NIRINN O'N'Y7 =

DXV7 DXUN D'INYN 01190 DTOXRNANT NITXYN NIYPAN
W27 "WORY NIYPA W |V 190N W' D OX) 1019'V '97
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NNDAI'T

NOY'A X"7 1201 Wpdd D"NKRILIDIIRT NTINNN DXV 7RI NRAN KNAITA
NIRXINN NX 0'9T1 DI'07 .nxy 7w Uppercase

main str
public class StringExample { . .
length () s
public static void main(String[] args) { |
. — " . T : 20
String str = ""SupercaliFrajalistic"’;
int len = str.length(); toUpperCase ()
String upper = str.toUpperCase(); | w
System.out.println(''String length is "' + len); 200,000
System.out.println("'String in UPPERCASE" 200,000
+ "is (AAJ + upper + "'"); :
b
;
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IN '2'0'N"19 ON |'2) 0I19'VN ININN DINYN NTO AX'N
Qbbh

‘int 019'VN DR 7Y YN IRNAIT?

2 3 < 7 11 13 17 19 23 29

7V nx1 Java) |IND'7a q¥12a 77 0T D1AYIF YN 0'RN
N7 NMYY DNYIR NTNAT'o N D (MR nann
n7'y

IPython 2 0"'on nnxw list 019'0%7 NNt 12'K wn
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D'OVN

Java 7w n"TIo'n 0"oI19'vNN 77N D1'N 0'DYN DA
N'"19N 019'UN XIN YN NINYN D i

YUNNWI VN 019'0N XN MNYNY |'"X7 T
("n'"'vann") o'yannn 0'Maioa

int [] arrayOfInts = {1,2,3}; L
String [] arrayOfString = {"one", "two"}; i
arrayOfInts MOO °
100,014 350,000 — -

300,000

arrayOfStrings

100,018 400,000 4— |

200,000~

300,000 S
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(PN21 17 N¥PINY DI7NA) INXY YN DRI
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N?INNIXI NMI90N NN ' TI9N7 NX1) DX .0'70710N
new 1IVI9IN] YNNWNT7 W' (ynin OXY Ny
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I'"MA'N7 NYWAL VN 0I9'0N DXV NN

int [] arrayOfInts; thirdElement
arrayOfInts = new int[3]; 100,004 0
arrayOfInts[0] = 1;

arrayOfInts[l] = 2; 100,000| QHS#@%"
int thirdElement arrayOfInts|[2]; 350,000

arrayOfInts

:DOIS'V '97 N'UNIVIX D'7NNINA new "V NXPINY YN NAX
null -7 7NNINN N'™M9N 0I19'0 =
0-7 '7NNIXN D'M7WN D"A'V'MM5N D'OID'VN =
0.0 -7 0"7nNnINN D"wNNN D''0'MMI9N D'OI9'VN
false -7 0'7’NNIXN boolean 'V'MM5N N'OID'VN

17¥ Unicode N )WY INT 7NNIXN char '2'0'N"M19n D'OI9'UN
0 NI
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IDNIN7 VN 7INYT N1

NYA7 [N WK M9 |"OXN KIN VN 7¢ IDIIX
NTIPIN M0I9IN NTY NN'Y! I'9X

int [] arrayOfInts = {1,2,3};
System.out.println("The size of my array is " +
arrayOfInts.length) ;
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(==) NRIYNN QIVIOINI NI'ION

NNWUN 7V 759 KIN AWKRD (=) NXIYAN 110I9IN
(N2 NI'simMn NIAIMON) NISNN NX NHYN 0190
'D'VIANIMN D'AXVYN NIX N7

arrl 1
] 1 ={1,2 ; —
rnE L e {1.2,3) 100,014| 350,000 - ;
int [] arr2 = {1,2,3}; —
int [] arr3 = arril; arrz 5
boolean b2 = (arr2 == arr3); arr3 T
boolean b3 = (arrl == arr3); 100,022 350,000 /] o]
El
bl b2 b3 400,000
100,026 false 100,027 false 100,028 true
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(sharing, aliasing) qIn'w

QNIYN XIN OXVN ,0XV INIX? NIY'AXA NIM9N 'NY OX
N'"190 7027 791 gy 'K . N'NYL

YaxXImn Qnivnn oxyn NX NIY7 2710 nimsnnn NNX 75
D'17N 'M72 XA

arrl

100,014 350,000 -

int [] arrl = {1,2,3};
int [] arr2 = arrl;
arr2[0] = 10;
System.out.println(arrl[0]) ; arr2
// ? v9T1* nn 100,018 350,000 7|

350,000
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:NOWI INN 0I9'0 X7 I'KY NN MY "qTum on'" 172y

new -n v =
new 1I09IN] WII9N WIN'Y K77 DXV x"7 Java 1 [N X7
72N

N1 ,("hello") NIX>NN N'0d wiIN'Y "y NTINNN DXV IX'™? N1
({1,2,3})0"70%710n2 win'y "'y 1Nyn DXY 1IN

D"OVDINI NI'AO9N =

NXNWN (=" 110719IR) NNWN 71 Y¥27 TWONR N9 019'0N NINWN 7y
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If/Else

public class IfElse {
public static void main(String[] args) {
int num = Integer.parseInt(args[0]);
if (num % 2 == 0) {
System.out.println("*");

}
else {
if (num % 5 == 0) {
System.out.println("**");
}
else {
System.out.println("***");
}
}
} 'D'N2N D'07PN 1IAY 09TI' NN
J 9,10 ,5,2
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If/Else

public class IfElse {
public static void main(String[] args) {
int num = Integer.parseInt(args[0]);
if (num % 2 == 0) {
System.out.println("*");
}

if (num % 5 == 0) {
System.out.println("**");
}

else {

System.out.println("***");
}

} ?7N2N "1'UN NNT7 NINN DX NINYN TYD
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'KINN NMO0DINR

:(Ternary Operator) '1110 11V19IX DA Xj7)
:Python 2
x =1 if y == 0 else 8

| :Java 2
int x=y==07?1:8

NI7Y9N1 DIY'N 7w NIXRXIN D2 NI'A7 NI71D' hinvnn
DI'N719 Y
1=1>0 7 funcl(i) : func2(i);
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(switch) n'xan '1aM

System.out.print ("Your grade is: "); ID'NIN 1217 ThIM 'ann AT

switch (grade) { nIrn? 20 switch n vinnx
case 100: byte, short, int, char, String
System.out.println ("A+") ; IYNnna 110I1') NN 0I9'0 IN

case 90: (oIpn
System.out.println ("A") ; 70 "2l 12'2 DRIYN NYXaNn

case 80 nyxanni case n '"oOnyn TN
System. out.println ("B") ; DX NN'RNNN MIYY ;J]']X)’_Ilﬁz

|

case 70:

System.out.println("C") ; YIX 7'NNn nX'opn 1NKY

N ,N'DINN Wnn Y MITo

case 60: case n nhivn ninvnn

System.out.println("D") ;

7?60 xinw grade 1Ay 09TI' NN
?70 xinw grade 1Ay 09TI' NN
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(break) n'Xan 112N

System.out.print ("Your grade is: ");

INX7 switch VO5WN D"07 N1

itch d
switch(grade) { break n1ann "y ,NMIYKRIN NARNNN

case 100:
System.out.println ("A+") ;

mea ?70 xinw grade 1Ay 09TI' NN
System.out.println("A") ; ?50 XInw grade Niay 09TI' NN
break;

case 80:
System.out.println("B") ; (7Tnn N1"M1) default Nnana vin'y
break ; 2 1Y'9IN X7W 0'DIYN 707 navn N

case 70: DN7YUn case
System.out.println("C") ;
break;

case 60: NNWOX) default n NX 0pPn? 7apn
System.out.println("D") ; MIINNNN
break;

}
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(default) o'xan "1

System.out.print ("Your grade is: ");

t?

switch (grade) { 250 NInw grade 1Ay 09TI' Nn
case 100:

1S)yst:rfl.out.println("A+") ; yimm? 71Tnwa 0'myy NN Nnindbna
reak; switch 2 wim'wn

case 90:
System.out.println("A") ;
break;

case 80:
System.out.println("B") ;
break;

case 70:
System.out.println("C") ;
break;

case 60:
System.out.println("D") ;
break;

default:
System.out.println("F") ;

1.0
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D'NXIN '1A"M

int numLetters = 0;
String day = args[0];
switch (day) {
case "MONDAY":
case "FRIDAY":
case '"'SUNDAY":
numLetters = 6;
break;
case "TUESDAY":
numLetters = 7;
break;

int numLetters = 0;
String day = args[0];
switch (day) {

numLetters = 6;
break;

case "TUESDAY":
numLetters = 7;
break;

=)

case "THURSDAY":

case "SATURDAY":
numLetters = 8;
break;

case "WEDNESDAY":

case "THURSDAY", "SATURDAY":
numLetters = 8;
break;

case "WEDNESDAY":
numLetters = 9;

break;
numLetters = 9; default:
break; : I
’ System.err.println("Illegal
default: y + day)? ( g
System.err.println("Illegal day Y '
, + day); System.out.println(numLetters);

System.out.println(numLetters); Javanowa1nim

N TRV T W Y Y PtV LY R V]
I LI\ T ITOT U=

case "MONDAY", "FRIDAY", "SUNDAY":

28



(Switch) no'xan 12

NITIPO 11Ay Yann o'y — Java 15 1y
.(statements)

D102 11AY DA o' Java 15 n 7nn

switch n pi7aw X'n niynwnn .(expressions)
.0V 'TNNT DA 71D

Java nowa 1 n1dIN
2'aX 7N NV'0NA1IX

29



D'"0'2D 0O'XIN '1A™M

Statement

int numLetters = 0;
String day = args[0];
switch (day) {
case "MONDAY", "FRIDAY", '"SUNDAY":
numLetters = 6;
break;
case "TUESDAY":
numLetters = 7;
break;
case "THURSDAY", "SATURDAY":
numLetters = 8;
break;
case "WEDNESDAY":
numLetters = 9;
break;
default:
System.err.println("Illegal day '
+ day);
}

=)

System.out.println(numLetters); 1.

Expression

String day = argsl[0];
int numLetters =

switch (day) {

case '"MONDAY", "FRIDAY", "SUNDAY":{
yield 6;

¥

case "TUESDAY": {
yield 7;
}

case "THURSDAY", "SATURDAY":{
yield 8;

}
case "WEDNESDAY":{
yield 9;
}
default:{
System.err.println("Illegal day " +
day);
yield 0;
}

System.out.printin(numLetters);

Juvu PRI A R RN | -=
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String day = argsl[0];
int numLetters = switch (day) {
case "MONDAY", "FRIDAY", "SUNDAY":{

yield 6;
iase "TUESDAY": { String day = args[@];
yield 7; int numLetters = switch (day) {
3 case "MONDAY", "FRIDAY",
case "THURSDAY", "SATURDAY":{ "SUNDAY" —> 6;
yield 8; case "TUESDAY" -> 7;
} case "THURSDAY", "SATURDAY" —> 8;
case "WEDNESDAY":{ - case "WEDNESDAY" -> 9;
yield 9; default —> {
1 System.err.println("Illegal day " +
default:{ _ day);
System.err.println("Illegal day " yield 0;
+ day); b
yield 0; };
1 System.out.println(numLetters);
F;

System.out.printin(numLetters);
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while voOwn

/\
boolean false while ( <boolean expression> )
expression <statement>
12 nwya while n vown vixa
AvINN <boolean expression> '0'1N
<statement> 7y 0'A%Tn false DWW DX =
statement
(D'0OwnN P17 IX VOWN - NXR7I7N Q1)
NN7170 Q1A X D'YXQN true DWW OX =
l (1) -7 0N
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The in€luence o€ Hollywoed is ne excuse.

The incluence o€ Hollywood is nigVse.
The in¢luence o€ Hollyweed is S@FFe.

i, 4 while NX7177 XnaIT

|int cnt = 0; |

while (cnt < 5) {
System.out.println(“Java is the best!”);
cnt++;

NN7170 20N 70 N D'RXNY ,N0IYO XNAITAY 'D 7V X
| 17INNNI TV NN TNTan | =
(7'wniy) n'xy 'KIN N7'T1a | =
NO0I11 N'XIU'XRVIX'A =
ATYN NINYN DIT'y? =

‘NIND0IN
O -7 o'"7NNIXN TY 21NWUN =

YZiann NI'o'Rn 150n 7V < 2IVI9IXN NITYA X'N DI'0N n'TA =

Java nowa 1 n1dIN 33

2'2X 7N NU'0NAMIX



\ do vVOWN

statement

<statement>
while ( <boolean expression> ) ;

l do

boolean \ false
expression NN7170 912 VIX'2 INK7 2WINN 'NINN XD
NNX DY NIND7 YyXann nxX717n qia 27
'197 NIIY NN 10N7 TWONN D'NYD7
l NN7170

do-while NX7177 DTN Qpwinn while -0 NX717 NX DAN)

Java nowa 1 n1dIN
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do voOwnN

int cnt = 0;

do {
System.out.println(“Java is the best!”);
cnt++;

}
while (cnt < 5);

D'7N1) while VOWNI WIN'YY do VOYNI YIN'WA |2 NN'NAN

7w "y XD (NXR170 79 TRR TN NIND'Y7 'Y NIRTIA VIT' DNAY
'W'N DYV

Java nowa 1 n1dIn 35

2'aN 7N NU'0NANIIN



for vown

X170 NITIO' 4 NX N1'KY while N VOWNI

NN'Y' NIN 1'X while 2 y'9mw '9> nX7170 'ann 071N
INIT'721 171NN TV NINWN NNTaNn]

NDINA IN NN7I7N 1197 AT TIR 9'0IN7 N2 NN1DNNN
X170 NITIo' 4 X 9710 for VOWN Y'aANN

for (<initialize> ; <boolean_expression> ; <increment> )
<statement>

Java nowa 1 n1dIN
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for vown

for (int cnt = 0, ecnt < 5; cnt++) {
System.out.println("Java is the best!");

AN TAN AT NINYN — I7INNNIETY NINYN NYTaAN
I'"INN7? W 1'R1for n NX717 ninna i

(77'wnivy) Ny 'XIN N7 1A
NS0 N'¥IV'R VIX' — X717 qIA
ATVN NINYN DIT'}?

Java nowa 1 n1dIN
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for (<initialize> ; < boolean_expression> ; <increment> )
<statement> |

l

initialize

l

boolean false

expression

statement

l

increment

!




for vown

:for n NX717Y
for (<initialize> ; <boolean_expression> ; <increment> )

<statement>

:while -0 NXN7177 n7Ipw vynd
<initialize> ;
while <boolean_expression> {
<statement> ;

<increment>

Java nowa 1 n1dIN
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for vown

D'TI9M ,TNX VOWNN NI' 717 071D <initialize> 1 <increment> n'77nn
NNAIT? .0'7'092

D'INYN 7Y ,'091 NITI9M NINNXN NNTO7 *770 1'anN) 0'N7W 7w NNNXN MY =
:(019'0 INIXN

for (inti=0,j=10; i <10; i++,j--)
sum +=1i%*j;

: <initialize> vowNa NOSTN =

int cnt;
for(cnt = 0, System.out.println(''Starting a loop'');
cnt<5; cnt++) {

System.out.println(’Java is the best!"");

(7wn%) Da X7X ,0M90n N7TaNA 71 K7 7907 <increment> 710! ;inw NNnY
(QAwNnN2 NINNAIT) DN N1AN 7W NP0 DTPNNY
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break/continue

‘Break

INIX 7'ON00 N1Annn N'T''n AX'Y'? DA break vown yix'a =
(while, do, for, switch vown)

TN 'WIN'Y N1 0w, switch vowna XNAIT 1I'RY =

:Continue

7Y NI'NDIIN N'YIV'RNNA N'T'A RN DA DT VOYN VIN' =
NNXQN N'Y0'RN DX T' 'NNNT1L,NR?17N

(while, do, for vown) NX717 N2 Y V'OINT D' B
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break -7 continue |'2 7TaNN

ﬂ IED -2" PNYUN? NIXONA 'MY AN

for (int 1 =1; i < 10; 1++ ) |
if (1 %8 2 ==0))
break;

System.out.println (i) ;

}
System.out.println("The End") ;

break -n nona nx "ym"

Java nowa 1 n1dIN
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break -7 continue |'2 7TaNN

ﬂ ﬂDD i 7Nwn? continue noa
for (int 1 =1; i < 10; i++ ) {
if (i % 2==0))
continue;
System.out.println (i) ;

}
System.out.println("The End") ;

g Java nowa 1 n1dIN
e c—

2'aN 7N NU'0NANIIN
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NN NIXR?1?

INXVI NXR717 DR 20 AR7170 qia
27900 NI7 NX 0'9 T

for ( int 1 = 1; 1 <= 10; i++ ) {
for ( int j = 1; j <= 10; j++ )
System.out.print(i*j + "\t");
System.out.println() ;

Java nowa 1 n1dIN
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D'A'INN break -1 continue

n77Dw continue -1 break 7w noo1l NIx Nn''y
NPT IN? ,INYT7D N1aNN NRY7? NMYONAL NN
q1NoN quIYN N1aNN

NIMIEN NIX?I7N AX'X NN 'YIN'Y 12T
MYIn TIY'Na 0D'01Y
https://docs.oracle.com/javase/tutorial/java/nu

tsandbolts/branch.html
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D'OVNI NIRT7IY

D'2YN OY NTIAY] NI NI'YIN'Y NIR?1Y
‘arr VNN "MAX DIDO NX AYNNY T yop 707

double [] arr = {1.0, 2.0, 3.0, 4.0, 5.0};
double sum = 0.0;
for (int i=0; i<arr.length; i++) {
sum += arr|[i];
}

System.out.println("arr sum is: " + sum);

Java nowa 1 n1dIN
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foreach

- TV 0 7D NNHDY NIV X' vn Nax 70 7V nnton n71yo i
(for/in Ix) foreach napnn TNIM ann n7 N9 Javad

NIIN] ITVN NINWN DY NTIAVN DX X' 17790170 0T 1'Ann)
D'V77N NINNN N'ONIVIR

:D'717W D'RAN TIPN 'WO7

for (int i=0; i<arr.length; i++) {
sum += arr[i];

iy,
for (double d : arr) {
sum += d;

"...U¥1 arr 1ynavw double 019'Un d 12X 7D7" D NT DX X
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foreach nx"717

for n nx717n N Ny 1 X7 Xn foreach n NI
n1an 7w (abstraction) nuwWON7 XNAIT X'n KX
NN

N1 QTN ,NYII95N NIIXY] D'Y'9IN D1'X D'019N TWNRD
INNDAIT? 11X AX72170 X wnn? JVM o ann? woaln

INW'7D 1TO 'NNTO NYN =
M yIN'a =

7NN TIPN YOR NWIY NN
for (int i1 : arr)
i++;

Java nowa 1 n1dIN
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nonynl nZ7nn '‘NN'vy




(static methods) np7nn 'MNY

NNY ,NNNKR NN NIdBWA (N'X119 ,NITYNS) NNA'Y7 NniTa
7¥ TIP2 WNX DIZNN N7'wONY7 |N1IY D'USYN NNTO XIN 1;77NN0
D'VINIAN NI' IX 09X NNAVNT ,NNYT AR "V DIIR"

2un7 Ind> static NNonn N 1T 7Y D'TIDIN AR D'YNN'Y

public class MethodExamples ({

public static void printMultipleTimes (String text, int times) {
for(int i=0; i<times; i++)
System.out.println (text) ;

public NT>NNN Ya1d 07yn)

Java nowa 1 n1dIn 50
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NNY N TaAn

NID DY DTN 79 annn
<modifiers> <type> <method-name> ( <paramlist> ) {

<statements>

D'NIN2 NITI9M NNoOn NI Nk Ik 0 o <modifiers>
(public static 7wun?)

1'TAN NNYAY 71VN 019'0 NIX |''XN <type~”
1V A'ThN 'R NNWAY |'¥n void =

,i'091 D'TI9IN ,0"'71119N0 DMVNI9N NN'WA <paramlist™>
INYI 1UNION 019'VN 1d1IN TNX ‘7D
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return VOSWNI NINWN 1Y NThn

. return LOWYN
return <optional-expression>;

NX 0"on ,(V'aIn DX) '10'AN DX AUNN return LOWN VYIXA
NN NTIRA7 ATINEYAD Y¥ANND NNWN

NN"IPZNY VN KIN 1DV ,QTRIM )WY 102 7710 09Wnn DX
X177 V' TN NNYY

NNYN 7 1TNIMN 11Yn 019'07 DXIN NI'NY7 Y 101N 019'0

return -N VOYN , void NKIN NNWYAN ITNINAN VN 019'0 DX
D'NO' NNWNIL ,77 return VOWN Y'OI' K7W IX MV 717D K7
19107 V' VIX'AN TWUND
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Y TN NNY7? XNDAIT

public static int arraySum(Cint [] arr) {
int sum = Q;
for (int 1 : arr) {
sum += 1;
ks

return sum,;

}

D'O"YX (flows) NNV INIX 7¥ DmMYOKNA D'7170n0 7D 7Y 'Thn NINY DX
TV TRy

:NAD NNYD DX [7M X

public static int returnZero() {
int one
int two

1f (two > one)
return 0;

} Java nowa 1 n1dIN
2'AX 7N NL'0NANIN
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NNYN 92

(variable declaration) o' ipzn Danwn v nNnxn 750 nNwn qia
(return 7210) vix'a "2 071091

D' INYN IXK N'10NN 1NYnN ,0"1AT D'IJNYN DA 0O'XY2] DY NN DRINhun
D"UNIVIX

(07707 "'y INNK 70 X71) VI 02 2InN'R 109 7007 Ni71d ninnxn

public static void doSomething (String str) {
int length = str.length() ;

12 WIN'YUN NX DTN NDMIX AT NINYN NNTAN
NNYN 912 XIN NINYNN 7¢ DI'Fgn DINN
12 WIN'YUN 197 NINWNL WII9N |9IXA Y D'W7 IX 7NNX7 012N
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YII9n 7INNXRA NIX W

NX7'ONI7 N2 1'R,KNAIT? NN TIpn Vop

int 1i;

int one = 1;

if (one == 1) // what about if (true)?
i=20;

System.out.println("i=" + 1i);

12 WIN'YUN 1197 NN N7 X7w 17V 1 - puix 7ronipn
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(method call) nNw% X"y

019'0) W YN 'RY ("NTINN MY — N2dN 0'MYS?) NNY7 axnNy?
v |irx "'y ,(NTIP9) vOwN NINA y'oIn (void XN TN YN
D'VINIAN 72 IX DY D'™M]AIOI

7w M T¥2 7wn?) 100D 975 )T VeI )W TTNNY NNYW? ARy
NINX NXMP2 12VIMN VINIAKRD IXK N 71T 102N 7N ,NNYn
(WY

72N (statement) vown NN Y'OINT D712 W 'ThNY NNW? ARy
TIA'R? Y710 ATNIMN YN D LRIIT7 'RYIN NNY? DX 71 DYV N Wt

OY MNX O'"AI0N NX |"X'7 nalin ' ,0'uvinianx '73.|7YJ N'X TNYnN OX DA
nNnwn
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public class MethodCallExamples {

public static void printMultipleTimes(String text, int times) {
for (inti = 0;1i < times; i++)
System.out.println(text);

j (N1TXIN9) void NNw NTan

public static int arraySum(int[] arr) {
int sum = 0;
for (int i : arr)
sum += i;
return sumy

} (N'X¥j7219) ATNIN )Y DY DNY DNTaN

public static void main(String[] args) {

1
printMultiple Times("Hello", 5); NNYY NP

int[] primes = { 2, 3, 5, 7, 11 };
int sumOfPrimes = arraySum(primes);
System.out.println(''Sum of primes is: "' + sumOfPrimes);

NNY7 AR




public class MethodCallExamples {

public static void printMultipleTimes(String text, int times) {
for (inti = 0;1i < times; i++)
System.out.println(text);

}

public static int arraySum(int[] arr) {
int sum = 0;
for (int i : arr)
sum +=1i; SUMOfPrimes 2tvn ninwn 7y "N N9

return sum;

}

public static void main(String[] args) {

preintMultiple Times(""Hello", 5);

int[] primes = { 2, 3, 5,7, 11 };
Byistum QAP peied ot BuapSedr{firitessy; "' + arraySum(primes));

System.out.println("'Sum ot primes 1s: "' + sumO1iPrimes);




public class MethodCallExamples {

public static void printMultipleTimes(String text, int times) {
for (inti = 0;1i < times; i++)
System.out.println(text);

}

public static int arraySum(int[] arr) {
int sum = 0;
for (int1: arr) VN DR VIZ7Z NN 'R
sum += 1
return sumy TNNYUN ATNIMN

} TIA'R7 1710 NIN TX D7IR

public static void main(String[] args) {
preintMultiple Times(""Hello", 5);

int[] primes = { 2, 3, 5,7, 11 };
arraySum(primes);




(qualified name) X7n oW

,(main 72un?) nanx np'7’nn 72U NNY JINn NNYW7 XNp7 0'¥N X 0X
NNYN 7y X'ma mwa wnnwn? v

NTI7 IMNXRI NNWN TAIN DAY NR7NNN DY DX 7710 X'm ow

public class CallingFromAnotherClass {

public static void main(String[] args) {
X| printMultipleTimes ("Hello", 5);

int[] primes = { 2, 3, 5, 7, 11 };
x| System.out.println("Sum of primes is:

1} +
arraySum(primes))
}

Java nowa 1 n1dIN
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(qualified name) X' Dw

NNTN] IN ,NNYN 7¥ X700 DY wnnNYn? [N D7rTann ng7nna
(unqualified name) 1272 N'¥j719N

11'20) DY INIX DY NI'Y219 NRIY NIR7NN ' TAN7 [N IT NIX]
(no ambiguity — nivann '’ NIV N7 XNt Dwnw

public class CallingFromAnotherClass {

public static void main(String[] args) {
MethodCallExamples.printMultipleTimes ("Hello", 5);

int[] primes = { 2, 3, 5, 7, 11 };
System.out.println("Sum of primes is: " +
MethodCallExamples.arraySum(primes)) ;

}

}
TI91 WIN'Y INT ,D¥YN NYPA WUzd7 " TD DTIZIN 11019IXA INK YIN'Y 11'X1 12D
NT IYUPNT7 'Y I'RY
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(method overloading) D'niny nonyn

NNIN] [N DX DA (NNTN) DW INIX NIFNY7 710' Java 2 nixie 'nus
NIV [N7W NN'MNNY 'R1NAl, NP7 NN

DN7Y D'VINIANRND 19002 IX\I 0I19'V] NNIY [N NI =
Ntnm W 770 X7 =

noNnyN NXIj71 177NN NNIXAI DY INIXA DNIYAI9 MY DNTAN

N7 1272VnYD DA NTAY println — NonNymM N'¥21I91 NYNNWYN 11D
NTNNN N7 11N2VNYD DAl '2'0'NN9 NINYN

NONYNN NIDNA WIN'W7 NIA'0 WITW A'X)
NN =
D'VINNX? 7TAN DM DY =
NIINN NIN'KN =

S FES b =) Java nowa 1 n1dIn 62
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(NIN1 "717'Y) NI'Y219 NoNVN

NX N'TNNI D'VINIAK IY N7APNN Max NX YUnn)
DN"'N 721Tan

TIX ' (7wun? C nowa) nonyinin NIIDN WIN'Y K77
NITINANN NNX 72 112V T19) DY X'XNNn7

public class MyUtils {
public static double max double (double x, double y) {

}

public static long max long(long x, long y) {

}
}

D'NI X71 D"NPDXM NInwn

Java nowa 1 n1dIN
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(NINI NIND) NI'YZ119 NONYN

'TANY [N NONYNN 12211 NNTYA

public static double max (double x, double y)
public static long max(long x, long y)

NIN'NA 'R ITN NINMRN 7V D'7wUn X ,0"7NNN |7'7I'11

'D'NQN D"7N2 7V9IN NINAI9NN IT'R ,7wnY

max (1L , 1L); // max(long, long)
max(1.0 , 1.0); // max (double,double)
max (1L , 1.0); // max (double,double)
max(1l , 1); // max(long,long)
Java nowa 1 n1dIn 64
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27"'oniENl NoONYN

NNP 7D 112V AN An'RNNN N0NAN NIX KIXN? nom YTNNn
NNPN 7Y D'0INIAIRN '0I19'0 'D 7V N'X[1197

N TNNN ,D'NYPN D'MNYA DINMNN DNXR QX7 NPT ANRNN ' DX
VT NITaxn 2'R-(vynd)w (casting) ninnin noan

:JLS — n 9w Conversions and Promotions ,5 719 "1

NN NNIXA" NINKNN 'MW NIRNYNIY IXN ANXNDN NIXYN] X7 DX
V'TIN ATNNN NRIY NIY1197 0D'M'RNN D1IY DMVNISY IX "NINAa0

(ambiguity) nin'na 'R v
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D'VINIANT 77NN NN DIV NoONYN

N1 DIV DY DVNIS OV N9 Y Tan? [N Python a

wun? .7 Thn
def func(x, y=1):

return x+y

Y DYI T'N' 20NID DY NNIX 'NwA XNP'7 N2 func n'xpao?
.D"UNIO

,JINT DIPN2 .77TNN D02 DY ' TaN7 [N X7 Java a
:N0ONYN] UNnva

public static int func(int x) {
return func(x, 1);

}

public static int func(int x, int y) {

return x + y;

} Java novwa 1 ndIn
22X 7N NU'0NIMIN
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NNX7 NIN'RNI NONVN

compute N'wImM'wn N'X¥IvN NN 11D 'AY7D Nd>IYN1A D N
X VINIAXRN 7V YD AN hyxann

public static int compute (int x)

NIZ7NN JINN D3) NDIYVNY YWIN'Y2 12D TIn TWUKRD NN AT TNKRY?
'0'012 DA NT 2IW'N YX¥A7 NIXN N7y ,(DNAND DNX K7W NNNX
(1NWy 0'0121 YXIQ MIPNN AIY'NN) DINK N1'90

NI'NY7 N'XP190 NN'MN DX 917007 [N X7 N1 a%7vAa

public static int compute(int x, int base)

79NpPNN7 177'09' X191 D'YNNWAN TIZN 'WORY 1IN
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TIZ 7190W1 MINK7 NIN'RN ,NONYN

N'¥{7219 Q01 NINWA NN'MN DX 9*70n"%7 DIgna P 7y
nonyin NoYAd NN
D'YA91 X7 NMI7NN N'¥7190 'wnnwn O

NIPNAN NY1197 RINP7 OXRN N7 0710 0'YTN D'YNNYnN O
D'NNN D'UINIAIX 190N NNV 'V NYWTNN N0NAT IN

NIoNYINN NIXOMAN 7W D'YINMN |2 20 [IMT 0"'7 — n'va
(compute niITnnn qia) NNIYN

TIRND 'N"V]A 12'n N1 Tl 7190V - "Tn QAN [T
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NIN TI7 7190V
NI XN AT
!(m:)mn) Dl7u}3.

Java nowa 1 n1dIN



NIMpYI TIR 7190W ,nonyn

“TI? 7190W NnINonN

IN ANTY '12'Y 70 — 0'"y9 PTNN7 ¢' ,0'"Yy9 V'simy Tip O
V'oIn 0DNAY NMIPAN 722 N1apy N1IN2 y¥a? U TNy |I7'n
TIPN YOp INIX

Unnl compute 7W NIXOAN 'MW NIAPY 7V Nw'? 1
NYTNN NONAN NITYA MWD N0NAN NN

public static int compute(int x, int base) {
// complex calcultion...

}

public static int compute (int x) {
return compute(x, 10);

}

Java nowa 1 n1dIN
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D'VINIAN 7V INWT7D 190N NOoNVN

:n'n','nu D'OINIAXN VXINN NIX N'TNNY N'X7119 2IN27 1221¥12Y N1

public static double average (double x) {
return x;

}

public static double average (double x1, double x2) {
return (x1 + x2) / 2;

}

public static double average (double x1, double x2, double x3) {
return (x1 + x2 + x3) / 3;

}
NNNon 2 winm?Y

TR 7190w =
D'OMIAX 4 W YyXINN2 NIN X7 =
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D'VINIAN 7V INWT7D 190N NOoNVN

1VNO NAVIE' D'OMIARN (|I'VT

public static double average (double [] args) {
double sum = 0.0;
for (double d : args) {
sum += d;

}

return sum / args.length;
AN9) TN 7190V (NN
YN XY WU ANZAI97 RINRT7 YT - NIR7N 7Y nTaON (jnon

public static void main(String[] args) {
double [] arr = {1.0, 2.0, 3.0},
System.out.println("Averge is:" + average(arr));
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X ,
w NITVU7 NXQ NIINA

D'VINIAN 7Y YIT' X7 190N DY NNY NNTAaN7 'ann 0@y Java a

(vararg)
:D'V7PN INKN Wnn DR X (L) NI wie 2 TN ann

public static double average (double
double sum = 0.0;

for (double d : args) {
sum += d;

args) {

}

return sum / args.length;

:D'TTIA D'VINIAX IX YN NNYWT? ' ayn7 Nyd N1

double [] arr = {1.0, 2.0, 3.0},
System.out.println("Averge is:" + average(arr));
System.out.println("Averge is:" + average(1.0, 2.0, 3.0));

Java nowa 1 n1dIN
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NZ7NN 1Nwn

,NTINN N2 DNTAMN D'IAT DNYN — D' AIZA DINYN 11'RY DD TY
D'01N1 DN NINN X' 0NXI 0N NTINNY AaRp D2

(global variables) n'7a1%a n'anwn 11207 D2 N1 Java a
(static fields/members) n*vvo nITw naON =

,NYD NTINN YW qIa7 yinn X A7 nnn q1a ima NTar 178 0nwn
.static |"¥nn "y 1Inio0

(public/private) naiw nixaa iR A% =
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D''MIZN DINWN NNY? n77nn nwn

01"OXN NNO2 D'IM D INYNN 0DIIY 1IN D'INWN

IYNNA NRIY NIFIXI] AXNI) NI NI7ND :NNDA DINN =
N"on N'Y7A19 YN 71 XY, TN 792 0o (o0ipn

TI7N NI'WO [NTA XN NINYN 7W 7NV INIX DI'P YN =
UIN'y N'7nnn TV 72 N2INN N2 D1 IRWAL |ND'TY

DX .0ON'Y' Y2 D'7NNIKRA D'VVO DINYN (7INNN =
N2 W7 17NNIR' - 2INNK 1Y 007 D'TaN X7 DNdNDNn
(0, false, null) DoI9'V '97 7TNNN

X71) Heap n 11Tka Xx¥na DN7 n¥pImn [N2'TN ([IND'T NINYPN =
(Stack -n tna
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190N NX 11907 'O counter '72172 NINWNI wnnua
:m () NTINNT? NINPD

public class StaticMemberExample ({
public static int counter; //initialized by default to O;

public static void m() {
int local = 0;
counter++;
local++;
System.out.println("m() : local is " + local +
"\tcounter is " + counter);

public static void main (String[] args) {
m() ;
m() ;
m() ;

System.out.println("main(): m() was called " +
counter + " times");

} Java nowa 1 n1dIN
2'AX 7N NL'0NANIN
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N7n nv

TIX W' DZ7IX ,NINKX NP7NN2A TI 1NN DA counter ndNwn? Ninos? N1
(qualified name) Xn mw nx |"'x7

IN X700 Y [I'¥ 7N 1'78 NWA7 [N 172172 NINWN 1TAIN DAY Ap7nna
(unqualified name) 1272 nntNN DY

NZ70N 'MNY? RPN NIIX? Nnima

public class AnotherClass {

public static void main(String[] args) {
StaticMemberExample.m() ;
StaticMemberExample.m() ;
StaticMemberExample.m() ;

System.out.println("main(): m() was called " +
StaticMemberExample.counter + " times") ;

}

Java nowa 1 n1dIn 44
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'O10 NT

final > nianwnn |I'X 'V NINWN 7w W yap7 |nn

2I'TA NNX DYO NN Y¥I17? N f£final XInv NINWN?
n'x'7'9n||7 NKX'AY MNAN NINWN IMIX? 19011 nnwn 7D

-NNDAIT

public final static long uniqueID = ++counter;

-1 D'WIAP D''¥NN DNYN NINY X' N72171n nndoin
12> UPPERCASE

public final static double FOOT = 0.3048;

public final static double PI = 3.1415926535897932384;
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